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ob0d 1. 00o00o00b0o0oo0ooboobo

#include <stdio.h>

int kaijyo(int n); // 00000000

int main(void)

{

int nx, result;

scanf ("%d” , &nx); // 0O
result=kaijyo (nx); // 0O O
printf (?%d!'=%d\n” , nx, result); // 000000

[my|
|
[m|

return 0;
//========== 000000000 (CO00000) ===============
int kaijyo(int n)

int i, p=1;

for (i=n; 1<=i; i——){

p=p*1;
}

return p;

}
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1 | #include <stdio.h>
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int kaijyo(int n); // 00000000

//========== Q00 00 ================================
int main(void)
{
int nx, result;
scanf ("%d” , &nx); // 0000
result=kaijyo (nx); // 00000
printf (7%d!'=%d\n” , nx, result); // 00O000o0a0o
return 0;
}
//========== 0 0000000000000 )===============

int kaijyo(int n)

if (n==1){
return 1;
telse{

return nxkaijyo(n—1);
}
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n!l=nx (n—1)! (5)

gboboobooooooooboboooboboooobooobobon
00000 200000000000 00000000C000O0O0O0U0O0 200000000000
0000000000 00000000002000000000000000000000O00000OO0

200000000000000000000000.



oobooooooobooboboooobooobooboooooooOoooobOOooooooobooao
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nl=nx(n—1)! (6)
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if (n==1){

return 1;

}
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3http://www.akita-nct.jp/ yamamoto/lecture/2005/2E/24th/html/index.html
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o0d 3: 0010000 2000000000000

#include <stdio.h>

void print_binary(int n); // 00000000
//========== [ Q[0 [0 [ ================================
int main(void)
{
int nx;
scanf ("%d", &nx); // 0000
print_binary(nx); // 00000

printf ("\n");

return O;

//========== 2000000000C00000)===============
void print_binary(int n)

{

if (n==0){
return;

Yelseq{
print_binary(n/2);
printf ("%d",n%2);

}
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#include <stdio.h>
int fibomacci(int n); // 00000000

//========== [ 00 0 [ ==================s=s=============
int main(void)
{

int month;

printf ("O00007?\t");

scanf ("%d", &month); // OO0
printf("O0000 = %d\n", fibonacci(month)); // O 0O

return O;

}
//========== 2000000000000 00)===============
int fibonacci(int n)
{
if (n==0 || n==1){
return 1;
Yelseq{
return fibonacci(n-1)+fibonacci(n-2);
}
}
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anp = 3ap_1 — 20y,—2 (11)
aog = 1 (12)
a; = 2 (13)
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